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Note : Answers may be written either in English or in
Hindi; but the same medium should be used

throughout the paper. _
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Attempt Five questions in all, selecting four
from Part A and one from Part B.
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PART-A
(WrT-33)
(@) What were the major historical stages leading to

. the emergence of the Indian nation-state out of the

civilization of the Indian sub-continent ? 10
(v} How has India's geography shaped some of the
* major characteristics of our civilization ? 5
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Secularism is a political response to maintain (protect) the
regional, religious and cultural diversities in India. Despite
many measures (legal, constitutional provisions etc.), we
are unable to control the spreading of communalism.,
Communal violence is increasing day by day.
(@ How does communalism or regionalism affect the
education system ? TV
(b) What efforts should be taken up by the schools
and teachers to sensitize children toward these

issues ? TV
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Decentralization of power is necessary to ensure democracy

in its true sense.

 {a) - 73rd and 74th amendments are steps toward social

opportunity, participation and equality. Comment.
T
(b} How does this distribution of power strengthen the

federal structure of Indian Politics ? %
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New Economic Policy has given choices to producers as
well ag consumers. Malls are replacing the retail shops.
Markets are flooded with foreign goods. Consumers

prefer to buy these cheapen and fashionable goods.

(a} It is true that privatization has opened-up job
opportunities for a limited population but lesser
demand of Indian goods is resulting in heavy un-

employment. T%
(b’ Education has also become a commedity.

In the light of the impact of globalization in Indian

analyse the above mentioned two situations. 7%
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Despite constitutional provisions and policies, child labour

ig still prevalent in our country.

@

b

In the light of the above statement, examine why
the universalisation of elementary education
programme is unable to ensure the enrclment and

retention of these children in school. e
Do you think strengthening vocationalization of
education (vocational education) could be the response

to this problem ? 7%
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‘Right to information’ makes the governance more
transparent and democratic. Comment. T
What role can school play in educating for using

this right judiciously ? %
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Urbanisation is essentially an outcome of industrialization.
It provides employment opportunities and exposure to
modern ways of living. But it has also changed the family
structure and norms. What impact does this have on
child-rearing ? Discuss with examples. 15
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PART-B

(WrT-®)
33% reservation of women in politics will change the
status of women in society. Argue your position with
supporting facts/examples. 10
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(7)
What role can schools play in education for

democracy ? ‘ 10
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In the contemporary global scenario, do you think

national identities are less important or relevant ? 10
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